
SPARE PARTS LIST
PAGE 1

MODEL NO. 6826N

ITEM PART NO. DESCRIPTION QTY NOTE
001 152823-3 LOCATOR COMPLETE   1
002 421775-2 Gyuru   1
003 213373-4 O-gyuru   1
004 416994-3 Záró gyuru*   1
005 232154-7 Laprugó 6822   1
006 266050-7 Önmetszo csavar M4x30   3
007 153497-3 GEAR HOUSING COMPLETE   1
008 421766-3 Gyuru   1
009 232050-9 Laprugó 232050-9   1
010 216001-0 Acélgolyó 3,5 216001-0*   1
011 324328-5 SPINDLE   1
012 233126-5 Nyomórugó 6 6832/6822*   1
013 268099-3 COLLARED PIN 8   1
014 227090-0 SPUR GEAR 36   1
015 211012-0 Golyóscsapágy 606ZZ*   1
016 226133-5 Fogaskerékpár   1
017 267017-8 Lapos Alátét 8 267017-8 HK1   1
019 216213-5 Alátét   1
020 216415-3 Tugörgos nyomócsapágy   1
021 216212-7 Alátét   1
022 153499-9 GEAR HOUSING COVER COMPLETE   1
023 210005-4 Golyóscsapágy 608DDW 210005-4*   1
024 510054-4 ARMATURE ASS'Y 220V   1

INC. 23,25,26,44,48
025 681636-0 Szigetelo alátét 9521NB/4304T/   1
026 211021-9 Golyóscsapágy 607LLB   1
027 421479-6 Gumi gyuru 19 9541/9542*   1
028 416993-5 Légterelolap   1
029 266147-2 Önmetszo csavar M4x55   2
030 633443-7 Állórész   1
031 417625-7 Akasztóhorog*   1
032 450718-7 MOTOR HOUSING  new   1
033 819063-3 MAKITA címke*   1
034 850433-7 NAME PLATE 6826N   1
035 643960-9 Szénkefetartó   1
036 191962-4 Szénkefe CB-419 (CB-406, CB-40   1
037 695034-2 POWER SUPPLY CORD  1.0-2-4.0   1
038 682559-5 Kábelvédo 8 6822   1
039 687052-4 Kábel-feszültségmentesíto 6870   1
040 265995-6 Önmetszo csavar M4x18*   2
041 651978-6 Kapcsoló   1
042 158710-4 HANDLE COVER COMPLETE  new   1
043 265999-8 #Önmetszo csavar M4x25   1
044 253139-0 Távtartó Alátét 8 253139-0   1
045 643961-7 Szénkefetartó   1
047 265999-8 #Önmetszo csavar M4x25   2
048 240022-0 Ventillátor   1
049 442136-3 Tömítés 6826/27   1
050 256157-7 Csapszeg 3 6222DW   1
A01 784806-1 MAGNETIC SOCKET BIT 10-65   1
A02 824449-8 PLASTIC CARRYING CASE   1
E01 645200-1 Zajszuro kondenzátor 645200-1*   1
E02 645253-0 Zajszuro kondenzátor 645253-0*   1
E03 654128-2 EARTH TERMINAL   1



SERVICE DRAWING
PAGE 1

MODEL NO. 6826N


